
N = 61
 61 spheres in a sphere

radius =   0.209108659202
ratio  =   4.782202725684

density  = 0.557758101350
contacts = 204
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N = 62
 62 spheres in a sphere

radius =   0.206739154000
ratio  =   4.837013118473

density  = 0.547847764413
contacts = 184
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N = 63
 63 spheres in a sphere

radius =   0.205954921018
ratio  =   4.855431446149

density  = 0.550372935465
contacts = 204
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N = 64
 64 spheres in a sphere

radius =   0.204107219252
ratio  =   4.899385742772

density  = 0.544195657340
contacts = 172
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N = 65
 65 spheres in a sphere

radius =   0.203076051707
ratio  =   4.924263553453

density  = 0.544364116868
contacts = 192
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N = 66
 66 spheres in a sphere

radius =   0.202108764115
ratio  =   4.947830958142

density  = 0.544878127391
contacts = 187
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N = 67
 67 spheres in a sphere

radius =   0.201216632889
ratio  =   4.969768083495

density  = 0.545841352947
contacts = 178
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N = 68
 68 spheres in a sphere

radius =   0.200002230133
ratio  =   4.999944247297

density  = 0.544018198088
contacts = 193
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N = 69
 69 spheres in a sphere

radius =   0.199281532516
ratio  =   5.018026444170

density  = 0.546072434137
contacts = 184
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N = 70
 70 spheres in a sphere

radius =   0.198688729141
ratio  =   5.032998118834

density  = 0.549057383073
contacts = 199
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N = 71
 71 spheres in a sphere

radius =   0.197222141221
ratio  =   5.070424617688

density  = 0.544659844168
contacts = 196
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N = 72
 72 spheres in a sphere

radius =   0.196285915470
ratio  =   5.094609043168

density  = 0.544502539950
contacts = 211
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